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CHAPTER 1. (REVISION -POWER SHARING) (BASED ON NCERT PATTERN)

Choose the correct option :

20. The proportion of Tamils in Sri Lanka’s total population is about:
(a) 8 per cent (b) 18 per cent
(c) 28 per cent (d) 38 per cent

21. In India, power sharing mechanism does not directly involve:
(a) Judiciary (b) Legislature
(c) Executive (d) Industry

22. Power sharing does not:

(a) accommodate diversities.

(b) speed up the decision making process.

(c) increases conflict among different communities.
(d) All the above

23. Coalition Government implies :

(a) power sharing among different organs of the government.
(b) power sharing by different communities.

(c) power sharing by two or more political parties.

(d) power sharing within the government at different levels.

24. The religion of state in Sri Lanka is :
(a) Buddhism (b) Christianity
(c) Hinduism (d) Islam

ANSWERS ARE HIGHLIGHTED.



